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All questions are compulsory.

Figures to the right indicate full marks.

1. Answer the following questions in 100 words each (any four) : [20]

(1)
(2)
3)
(4)
5)
(6)

Explain the concept ‘Socialism’.
Define the concept ‘Cold War’.

State
What
What
State

any two consequences of Great Depression of 1929.
is meant by ‘Star War’ ?

is meant by ‘Non-Alignment’ ?

the objectives of GAAT.

2. Answer the following questions in 200 words each (any two) : [20]

(1)
(2)
3)
(4)

State
Give
State

Give

the consequences of First World War.
an account of Stalin’s Five Year Plan.
the consequences of World War-II.

an account of the rise of Russia as a world power.

3. Answer the following questions in 400 words (any one) : [20]

(1)
(2)

Give
State

an account of the rise of Nazism in Germany.
the causes of World War-II.

P.T.O.



4, Write short notes on any four : [20]
(1) Structure of League of Nations
(2)  Adolf Hitler
(3) Benito Mussolini
(4) Liberalization
(6) OPEC
(6)  Globalization.

(AE wuiav)
% : W q™ THUT T : 80
M :— () T WA SAeRIR  3TRd
(ii) ISAihSle 3k TEAE YU O SFifaar.
(iii) IO T TUST YvAULART T

1. Y| UeAEl W ORI 100 VK[ faw (SR |w) [20]
(1) ‘guER’ & Geeddl TR H
(2) ‘IS’ & FhodN W A
(3) T 1929 = WEME WIUdE | URumE 9.
(4) ‘'®WR AR WIS 6H?
(5) FAfaE]’ WS I ?
(6) e 3fewe ol

2, U&d YIRS TR 200 VW forwl (FURl gF) [20]
(1) ufeean wegsN aRom g
(2) TWifam Tdfacicd g=artie JSHET eel =4

(3) TEA WeEE YR 9.
(4) TH Srfas Hd WA WErE I&hrEn g9 @
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3. TIAUH! IR T U SW 400 I=W o o [20]

(1) THAId TSR 3Sar=n STe =41

(2) TEA HEESTEl HRU EEL

4.  deRE four fem (R =R [20]
(1) TeegarEl =
(2) eleh feeer
(3) wfta weEfert
(4) ST
(5) 3lush
(6)  SINIfehiehLTl.
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